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QUESTION 1

Which two protocol options are available on the CLI but not on the GUI when configuring an SD-WAN Performance
SLA? (Choose two.) 

A. DNS 

B. ping 

C. udp-echo 

D. TWAMP 

Correct Answer: CD 

 

QUESTION 2

Which engine handles application control traffic on the next-generation firewall (NGFW) FortiGate? 

A. Antivirus engine 

B. Intrusion prevention system engine 

C. Flow engine 

D. Detection engine 

Correct Answer: B 

 

QUESTION 3

Refer to the exhibit. 

Based on the raw log, which two statements are correct? (Choose two.) 

A. Traffic is blocked because Action is set to DENY in the firewall policy. 

B. Traffic belongs to the root VDOM. 

C. This is a security log. 
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D. Log severity is set to error on FortiGate. 

Correct Answer: AC 

 

QUESTION 4

Which three CLI commands can you use to troubleshoot Layer 3 issues if the issue is in neither the physical layer nor
the link layer? (Choose three.) 

A. diagnose sys top 

B. execute ping 

C. execute traceroute 

D. diagnose sniffer packet any 

E. get system arp 

Correct Answer: BCD 

 

QUESTION 5

Refer to the exhibit showing a debug flow output. 

Which two statements about the debug flow output are correct? (Choose two.) 

A. The debug flow is of ICMP traffic. 

B. A firewall policy allowed the connection. 

C. A new traffic session is created. 

D. The default route is required to receive a reply. 

Correct Answer: AC 
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